
Instructions for Christmas Tree 
	

Row 1: Space 14 times, make “ch”, make “st” 
Row 2: Space 13 times, make “cc”, make “w”, make “r”, make “cc” 
Row 3: Space 14 times, make “with”, make “of” 
Row 4: Space 13 times, make “with”, make 2 full cells,  make “of” 
Row 5: Space 11 times, make “by”,  make “with”, make 4 full cells,  make “of”, make question mark 
Row 6: Space 11 times, make “by”,  make “with”, make 4 full cells,  make “of”, make question mark 
Row 7: Space 9 times, make “by”,  make “with”, make 8 full cells,  make “of”, make question mark 
Row 8: Space 10 times, make “by”,  make “with”, make 6 full cells,  make “of”, make question mark 
Row 9: Space 7 times, make “by”,  make “with”, make 12 full cells,  make “of”, make question mark 
Row 10: Space 8 times, make “by”,  make “with”, make 10 full cells,  make “of”, make question mark 
Row 11: Space 6 times, make “by”,  make “with”, make 14 full cells,  make “of”, make question mark 
Row 12: Space 7 times, make “by”,  make “with”, make 12 full cells,  make “of”, make question mark 
Row 13: Space 4 times, make “by”,  make “with”, make 18 full cells,  make “of”, make question mark 
Row 14: Space 13 times, make 4 full cells 
Row 15: Make 28 full cells 

     This is kind of what it looks like – Distorted because of the print 
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